10 N=1 CCuUs
(ASP)
10 A=350m2 cCUs
(ASP)
V=1,000m3
9 wsone,
- (ASP)
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10 ccus
A=80m2 (ASP)
V=240m3
V=480m3
9 A=289 ccus
V=113m3 (ASP)
L=196m
8 L=140m CCUS
(ASP)
7 L=60 CCUS
(ASP)
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7 7 4
N=1
16 N=1 ccus
(ASP)
N=1
N=1
16 |N=1 ccus
cerv N=1 (ASP)
N=2
11 L=70m ccus
(ASP)
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7 4
10 L=300m
2
ccus
(ASP)
10 L=140m
2
10 L:3OT_SO ccus
= (ASP)
2
—1 5 L=120
S ccus—

4711




7 V=1,500m3 ccus

(ASP)
6 V=4,000m3 ccus

(ASP)
8 V=7,000m3 ccus

(ASP)
10 ccus

(ASP)

5711




CCUSs

(ASP)
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,
2
ccus
(ASP)
2
I ccus
(ASP)
2
? stmizsms ccus
- (ASP)
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9 A2) N=1
L=34m Cccus
(ASP)
8 L=50m ccus
(ASP)
8 Al) N=1 CCUS
(ASP)

8/11




ccus
(ASP)
16 (ASP)
6 L=13,300m
(ASP)
6 L=12,500m
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t=5cm A=20,400m2

L=1700.0m
W=3.5 10.0m

t=5cm A=9,000m2

L=1500.0m
W=5.5m
t=5cm
A=8,250m2

CCUSs

(ASP)
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L=1.5m

CCUSs
(ASP)

N=1
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8 A2) N=1
5 L=50m
5 L=50m
10
1

[0}
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